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3.  The geographical feature favourable for the formation of circular rural settlement | 4 . QOO0 @odlm aaLMUNEIITEA djlo W«,ﬂm VA0V BHOROD
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(@) Highway (®) Pond
(c) Railway (d) River

4.  The most common problem of rural settlements from the following :
(a) Busy Transport (b) Acidrain
(c) Waste disposal . (d) Unmetalled Roads

5, An example of Regional Planning‘
: (a)  Infrastructure Planning =~ (b) Irrigation Planning
Drought Pronc“Arca Programme (d) Transport Development

The type of development that meets the needs of present without compromsmg
ability of future generatxons to meet their needs
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A Kharif crop
(a) Rice

(c) Vegetables (d) Maize

Urban smog leads to
(a) Water pollution

(c) Noise pollution

Which among the following rivers in India is highly polluted ?

(a) Satlej (b) Yamuna
(c) Brahmaputra (d) Godavari
Answer all questions from 10 to 13. Each carries 1 score.
The Headquaﬁers of ASEAN

(a) Jakartha (b) Vienna
(c) Portugal (d) Minsk

Among the following South American Nations, the one which forms a part of OPEC :

(a) Argentina (b) Venezuela
(c) Peru (d) Chile
An example of ancient town in India

(a) Delhi (b) Kolkata
(c) Pataliputra : (d) Kochi
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An administrative town in India among the following :
(a) Surat : (b) Ambala
(c) Vishakapattanam (@ Delhi
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(b) Groundnut

(b) Land pollution
(d) Air pollution
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PART-1I

A. Answer any two questions from 14 to 17. Each carries 2 scores.

14. Define Neodeterminism. -

15. What do you mean by Balance of Trade ? ; s Al TR
{ Y 15..Q mgmocom]gqqa)crnom%p@gﬁ‘

16. List out any two problems of Urban Settlement. l6.

17. Mention any two advantages of water transport.

B. Answer any two questions from 18 to 20. Each carries 2 scores.

18. What is digital divide ?
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19. Write any two examples forlNonmetallic fuel minerals.
20. List out any four medias of mass communication.

PART-II |

A. Answer any thrée questions from 21 to 24. Each chrﬁi
Theory.

; 21. Describe the three stages of Demographic Transition

B

a) What is mining ? 1

(b)

Explain the tu)"'gj),‘es_of,mining. UG
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